st T — DB HDERDEMIKESR

@)
E=cE0
PENE f:ﬂ_i i
% 1 (0%)
17 (3%) oo [ b
’g;% Pl7ies
0, 28)
% %)
U
53 (8%)
=t 63 7@ (48%)

BN BMKES TEERENSRET

O

SHEOEDLE CER30E)
| #pames |

28 gEn | 2

B | PEPR | mgEm | Vrp

=R %

1 @ 304 48

[ 2 F o= 100 16|

3 r & 21 3

4 = 20 3

5 B @ 20 3

6 B B 18 3

[ 7 %W 16 3]

8 ! 13 2

9 B W 11 2

10 | & 8 11 2

- £ = 637 100

B BMKES T1RIDHRET

—/ * =3
SREDOINES
X2 A2
% (28 - EHE) RS (BITEE)
L I,
ttima w o e | ws .
; 21 14 =z =B Znts R
TR s 50 36 14 ® 232Tt g pE
(8% 2 (100%) &
5 &% 4 A
(31%) 26
12 BRR ESESS FE
11581t
_ 18 (100%)
S0 218F t
plid 88 52 20 (iio 100%) S
2 e
33
. R . . , (29%)
o 50 100 150 200  2E0 (Ft)

O HEREHEEANDIZIEDEHET136FBATEEDHN 28 ZS5HTNET,

O #HEFNRRICHDE, BRBTREEIOMMURIC2ENS YDAV ULUTHD, FEEND

10088 (FE21D TREEZ. RNWTRWEMGEA (F74LD DIEES>TNET,
RERIICHDE. BERBIFEEICLEN 5081\ DEISHE<E>TNET,

(] Pas

EEEE S
Zot

Ea _ _

2 ng

- 18% 48% 28%

£ 52D

= HBOE) 13%

[ 82%
4%

BEREBENDATDIES ([FTFE) (£17351,500 t TEEDS%ERZR>THD, #RA!
CHDE. HREDNREZ . RNWTHHR., REEDIECTS > TUNET,
O SoNELDRES (@) Z&ERRRICHDE. BREBEENTIE, FEEN 175100t
TxE1 I, ZPEN1,400t TA2MI1EBZ>TNET,

5oAEL (ER)

T= R 2O 2 B
153 29 2038t
(75%) (15%) (100%)
128 19 1618t
(78%) 12%> (100%>
101 14 1248t
(83%) (10%) (100%)
50 100 150 200

@t

R ARKE A




